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1. [Each|child has 57 tickets. If there are 6 children, how many tickets are there in total?
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2. William has 26 Skittles. He gets 2 more from Lois. How many Skittles does William have in all?

3. Benjamin starts with 23 erasers. 7 are eaten by a hippopotamus. How many erasers does
Benjamin end with?

4. Each banana costs $9. How much do 40 bananas cost?

5. Norma has 208 inches of ribbon that she wants to cut into 8 pieces. How long will each piece be?

6. Larry filled 24 jugs with 3 pound of sand each. How much total sand did Larry use?

7. Marilyn starts with 51 bottle caps. She shares 36 with Nancy. How many bottle caps does
Marilyn end with?



8. Jane went to the store 13 times last month. She buys 5 marbles each time she goes to the store.
How many marbles did Jane buy last month?

9. Kevin removes 4 bananas from a jar. There were originally 54 bananas in the jar. How many
bananas are left in the jar?

10. Lisa has 5460 pencils stored in boxes. If there are 4 boxes, how many pencils must go in each
box?

11. William has 2 bottle caps. He buys 41 more. How many bottle caps does William have in all?

13. Bess has 14 books that are each 3 inches thick. How wide will a bookshelf have to be if Bess
wants to set all the books on the shelf?

12. Norma has 875 bottle caps. If she shares them among 7 friends, how many bottle caps does
each friend get?

14. It takes 3 cups of flour to bake a batch of cookies. How many cups will it take to make 24
batches of cookies?
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8. Jane went to the store 13 times last month. She buys 5 marbles each time she goes to the store.
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11. William has 2 bottle caps. He buys 41 more. How many bottle caps does William have in all?

—_0N | )
=r _'_l'-'l' LL’ 3 bobHe Ceps g
13. Bess has 14 books that are each ?_ﬂmhes thick. How wide will a bookshelf have 1o be if Bess
wants to set all the books on the shelf?
Hul‘;P‘;CC(I.M
M o
LRI h U2 lnches wide

A}

12. Norma has 875 bottle caps. If she shares them among 7 friends, how many bottle caps does

each friend get? I
D'\JlSlbn

;lé_gf—:—.%}p\:s(" 'JZS Gottle Ceps ecch
=

14. It takes 3 cups of flour to bake a batch of cookies. How many cups will it take to make 24
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